HEPER USA LLC

W227 N546 Westmound
Drive Waukesha
WI 53186 — USA

Tel: +1 917 244 20 32

infoUS@hepergroup.com
www.heperlighting.com

C-LIGHT

Installation and Maintenance Manual

812
512"

M8
Fixing Screw
7,37 Ib ft

)

4.1 @
A

|
‘L/4XM4

Allen Screw
1,84 b ft

M10 Nut

Steel Rope

4 x M5 Allen Screw
4 b ft

Control Gear

5

A Designates 1-10 V DIM connection. ——=}=
@ S (10v)- Dwhite 114"

(1-10V) + O Brown

Control Gear

2 x M5
Cross-slotted bolts 4 Ib ft

3 x M5
Cross-slotted bolts
41b ft

o
—




I -~ HEPER USA LLC

W227 N546 Westmound
Drive Waukesha
WI 53186 — USA

Tel: +1 917 244 20 32

infoUS@hepergroup.com
www.heperlighting.com

C-LIGHT

Installation and Maintenance Manual

ASSEMBLY INSTRUCTIONS

1.By turning the movable hanging apparatus of the luminaire you can
adjust the rope direction. After the apparatus is locked on the rope,
screw the M8 setscrew to fix.

2.Pass the rope by loosening the M10 key head bolt that provides the
connection of the hanging apparatus. Complete the assembly by
screwing M10 nut.

3.Shows the electrical connections of the luminaire.

(NG oue

= @—1-BROWN

2
(=1
=
>
=3
=
pr
=
=&
~

4.To be able to change the module; please detach the electrical
connections of the product. After unscrew the 4xM4 bolts that provides
module connection, disconnect the socket that links electrical
connection.Given in figure 4.1. By doing so, the module is removed from
the housing. Get the the module that will be replaced and make sure its
electrical connections are done.See figure 4.2. Screw the bolts that fix
the module to housing.

5.To be able to change the LED Diriver, firstly the electrical connection
must be turned off. Then unscrew the 4xM5 bolts.Pull out the control
gear.

6. After the Control gear is pulled out, unscrew the M5 Cross-slotted bolts

from the Driver sheet.

SELYV (Safety Extra-Low Voltage)
Luminaire: IP66

Safety Standard: Class |

Impact strenght: IK08

220-240 V AC 50-60 Hz

WARNINGS AND REMARKS FOR
INSTALLATION AND MAINTENANCE
Safety Instructions £

The light source contained in this luminaire shall only be
replaced by the manufacturer or his service agent or a
similar qualified person. Always switch off the power prior
to installation, maintenance or repair activities.

The manufacturer is then discharged from liability when
damage is caused by improper use or installation.

. If any luminaire is subsequently modified, the persons

responsible for the modification shall be considered as
manufacturer.

To reduce the risk of death, personal injury or property
damage from fire, electric shock, falling parts, -cuts,
abrasions and other hazards, please read all warnings and
instructions included with the luminaire, on the luminaire’s
packaging and affixed to the luminaire itself..

Installation x
LEDs are high-quality electronic components!

Please avoid contacting the light output opening of

the LED directly during installation or relamping.
IMPORTANT A

To ensure secure connection, the luminaire housing
must be positioned precisely in relation to the
mounting plate.

Cleaning And Maintenance
Clean luminaire regularly with solvent-free cleaners
from dirt. Please do not do not clean the luminaire
with using high-pressure liquids.

CLASS |

CLASS I

@L

EE

\3D

Cable Details

67 mm

<25 mm

., | PG11: 5+10mm
PG13,5: 6+12mm(for DALI

Sl & [wx

<2.5 mmq

\D




	LT2029.672.00 - 1
	Teknik Resim Görünümü1
	Teknik Resim Görünümü2
	Teknik Resim Görünümü4
	Teknik Resim Görünümü5
	Teknik Resim Görünümü7
	Teknik Resim Görünümü9
	Teknik Resim Görünümü10
	Teknik Resim Görünümü11
	Teknik Resim Görünümü12
	Detay Görünümü F (1 : 8)
	Teknik Resim Görünümü14
	Teknik Resim Görünümü15
	Teknik Resim Görünümü16
	Teknik Resim Görünümü17
	Teknik Resim Görünümü18
	Teknik Resim Görünümü20
	Teknik Resim Görünümü26
	Teknik Resim Görünümü27
	Teknik Resim Görünümü28
	Teknik Resim Görünümü29

	LT2029.672.00 - 2
	Teknik Resim Görünümü23
	Teknik Resim Görünümü30




